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1. (a) Fill in the blanks with appropriate word/words : (any four)

1x4=4

Toge = A SRR o[ A ¢ (Replee biikoY)
%‘9!{@%/%@%{?1%%3@3 (TR BIFT)

()

(W)

(iii)

(iv)

(v)
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New Ratio — Old' Ratio =

\

o TS — A A = 2|

A SelTe — I S = |

Closing Stock is valued at cost or market price whichever
is :

7 Al FEeTeD [ o3, OF So[F® AT TGO 0N T
o |

GIED ql A @b o3, SR AR (18 TGO~ LT
<41 = |

statement is also known as Profit and Loss
Account.

e aie-ees f2his Jfete & A |
o e @ =fex AR weote il |

is the extra earning capacity of a partnership

firm. . :
7w ol kAR efebim SR S S el

= o3 weTmE dfedier SfeRe e e el |
Balance Sheet shows financial of an enterprise.
g a2 dfevi @4 e T (T4AE |
E@@ﬂ@(ﬁmﬁfﬁﬁﬁmﬂﬁfmﬁ$ (& (AR

[2]



(b) State whether the following statements are ‘True’ or ‘False’:

1x2=2"
o[ SferE@N ‘W' @ Srem 51 g
fferfs Refoolr ‘wa I owm @ s
() Company is an artificial person.
AT @Bt Faw I
@I Gl Flaw i |
(i1) Debt—Equity ratio is a kind of liquidity ratios.
AT SIS Oe] SN2 o) &l |
w—i@?ﬁwﬂﬁf\—o ] G AP OFT A |
(c) Choose the correct alternative : 2=
wa TeICo! A 4 2
wm Rewl S:ioy et ¢

() When a new partner is admitted, the increase in the
value of assets is debited to :

oAl qem To ST ©fS 23, TR T g% oRs i
23 3

I GG T AW @A W, TG T 9 <=5 @
s ;

(a) Profit and Loss Account
ele @ Wex AR
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(b) Assets Account
AT 251
(c) Capital account of old partners
o wARY T 251
CRIal @aﬁma%v@ TG A
(d) None of the above
@FF dbIe TR

As per Companies Act, POMSINtIE maximumA rate of
interest on calls-in-arrears is :

il STigs, 2013 m@%aﬁﬁwﬁﬂaemi’awwww
[ |

mwﬁi@@,zo.lswmwﬁmﬁmmmmwz

(&) 11%
$3%
(b) 10%
50% '
(c) 6%
A
d) 12% ]
$3%

i ]



2. Name two types of shares which a company can issue. 2
9Bl (@FINIE [ SR 21 12 oo S)Eisiad i 520 |
(I P21 (¥ 92 4R oo f&fe 909~ GIefm a9 @il

3. Mention any two items which are recorded on the debit side of
Profit and Loss Appropriation Account. 2
A \

SIS~ (ETIROI ST [RB17 (i elceT foifel<a <51 Rigica 761 =% Be < |
S~ (ST GG A <03 e el sl @i 716 i Srad <l |

4. What is Partner’s Current Account ? 2
A Bere f2piet /e
SR bfere f2oa e |
OR / 7231 | @12y

What is meant by guarantee of profit to a partner ?
oA e aifess T R gl e
SRAMIER ites efouifs Tere S @RI

S. What is paid-up capital of a company ? 2
GBI @I SMRFS 674 N 52
! AT TS o 12
OR/ T / o

What is meant by computerised accounting system ?'
FICORFS (RIS 2ol i (& 3o e
FIToRPS R 2o T60S ) @RI .
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6. Give two limitations of financial statement analysis. 2
el eforma ReweR 700 ANl S 1 |
iRk R Rt 9fb el Ted S|
OR / 7z | @41

What is data verification P

\
w2 AT =5 2
w2lJ eI H 2

7. Write two features o'f cash flow statemenf. 2
o 4 2Aes AR 7ol @R
ol 1 2R ot 776 (e ETed |
OR /[ =l | @<

Write two uses of electronic spreadsheet.

FERGAR CRITAD 75 TR
ETO AT CETAIA 70 I (G |

8. A, B and C are partners sharing profits in the ratio of 2:2:1
respectively. They admit D as a new partner for 1/6th share in the
profits. Calculate the sacrificing ratio. )

A, B OI% C fofiem SieimE O (OSTEIE @l 202 1 1 Sl 3 57
T | (OETEICP TS 1/6 B¥H IR D-F Fgel G [Zhitel ©f% T | oneR
SEES T 54 |

A, B 3% C 2o fore S &R Ok TAE 2 : 2 1 1 SgAies e 956 G |
o|l 1/6 S Ficed SAMIREY D@ e SR ROV 9= S | S
TS e |
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OR / #1241 [ @131
Explain the super profit method of va_luation of goodwill.
TN DR TS AGSCH! G101 5 |
I TR WoaS Awfe5! <5/l 5G|
. \

9.. Write three uses of financial st\atement analysis. 3
e eiferw Reszem fefor s o |
wiffes eform R o aREs el |
OR / #1241 [ 5231

Seru Ltd. has a liquid ratio of 2:1. The values of inventory,
prepaid expenses and current liabilities are Rs. 50,000, Rs. 10,000

and Rs. 2,00,000 respectively. Find out the value of current assets.

(= TRIRICOeR e SeiTe (0= 2 ¢ 1| WG, e dne 4ApoE o b (e
#If<E9 @ 50,000 G, 10,000 T SF 2,00,000 56 | B i o
Sefg =1 |

<< feTCB0e e SAi® 261 2 @ 1 | S[g, il 2 X «9e bete (iRid
offg9 FAFEE T 50,000 B, 10,000 B Gw) 2,00,000 5l 5T
ife o el = |

OR / 723 | §<at

Mention the steps for creating graphs using Excel.
Excel 921 SR (14 (SN T MR Srad 41 | ;

Excel IR2[ @ (74 (o7 917 diviel Teye aa@ |
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10. What is buyback of shares? S

w7 fZre m e
ST (R Bl |

OR / 723 | A
Give three examples of ca\sh inflow from operating activities.
AT FIRITNT =1 (= W 4 e foD Tz
A SRR (A ool ol & 2RI foAfo TR mie |

OR [ 7% [ @21
Write in brief about Accounting Information System (AILS).
@I o g R v &l
ol © 2elleTia KR A (el |

11. Write three distinctions between Revaluation Account and

Realisation Account. 3
TR feblel i SRRl Bov e O SN el
AT TR e S A e fEp Al Al |

OR [ Izl | @2t
Why a retiring partner is entitled to a share of goodwill of the firm ?
e SRR SR e 2D I < e SEI) 2
qoe SRRl e (@ Afeomitn FNeE @ SikeE S e
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12. Prepare a Comparative ‘Income Statement from the following

21 / ACOU [9]

particulars of BP Ltd. 6
BP-fA{N(00s O/ WL #/9] Q< SERRERS WY Ao e 59 ¢
BP-feifcores Wsfiie @ fofers a3t wemmees o afer@mm owe @ ¢
Particulars (f&e96l/Regel) 2022 (3 g 2023 3)
| Sales | 400,000  6,00,000
kel /i@
Cost of Goods Sold 60% of Sales 60% of Sales
k&l 31 AWIR Ty R/ 60% R&R 60%
Rie =1 Adk e [ 60% ks 60%
Indirect Expenses 5% of Sales - ' 5% of Sales
| o % Rl 5% RER 5%
AR <5 [ 5% Rf#= 5%
Rate of Income Tax 50% of Net Profit 50% of Net Profit
URGE W@ before tax before tax
R o 4 I S R 4 frare ee
e 50% A 50%
R 41 =R g
sl 6 A0eE 50% 9l 6 s 50%
OR / 7231 | @12t
Explain the nature of financial statements. ;
- e dferameres egfes Ra i<l i |
wife efsrwrnre agfe i @l |
Contd.



OR / 723 [ @241
Discuss the features of Database Manégement System.
TIBIED ~ARDE RNod @B SICEnl 4 |
TSI AR & od RREPRER Sl S|

13. What is meant by debenture ? Explaln the types of debentures.
1+5=6

oo e 76 Ie A2 AeleEs ARPTIR IR0
Heiolg 00 S (@I 2 Aelsiad dEmele i TR
OR / 7231 | @12

Give journal entries in the books of MB Ltd. for issue and
redemption of debentures under the following situations :

2x3=6

MB %ﬁtﬁma@—m—ﬁmwmwmﬁ%mwﬁmmw
GIRIERTRIIE

MB%&WWW&‘W@%WOF%%M\WM
Giviefe mae s

(a) 24,50,000, 12% Debentures issued at a discount of 5% and °
redeemable at a premium of 5%.

4.50,000 THR 12% @esi@ 5% aAGre [ T U 5% wirge
ARCNGTR |

4,50,000 SRR 12% 7@ 5% R RET SN R, [y 5% wiHEE
AT | ; ;

21 / ACOU [10]



(b) 10,000, 15% Debentures of ¥ 100 each issued at a premium

of 10% and redeemable at par.
10,000 Bi, 100 GFRI 15% 2€o[@ 10% Wiz [ T3 O Fgeo
AR |
110,000 f5, 2S5 100 Bl BeTE 15% =@ 10% SiReE [ 1 =7,
1 TR SR | |

(c) 2,000, 8% Debentﬁres of 2 100 each issued at a discount of
4% and redeemable at par.

2,0006 100 TSR 8% 4e+@ 4% <Jo® [l @ OF FAIZETO
AT |

2,000 o, @fo 100 Tt R 8% edof@ 4% igice [fE =1 =3, [
TR AR |

14. Explain how the amount due to a retiring partner is ascertained.
: 6

GG SR &29 T SN ARG 4 AR fowes Waieel =€ 27 vt
4|

GG SRPREY SRR 2hen SR AAfEd S Fefwe 51 2, i e |

OR / #1zdt | w27

Babatu, Cintu and Montu were partners in a firm sharing profits
and losses in the ratio of their capitals. Their Balance Sheet on

31-03-2022 was as follows :

JRICE!, BT TS T (TEERTT TR oSS TS~ IB T SLA TS
ST | 31-03-2022 SiRNS (DEFIF Tgesiad wee fial 43¢[ ifee ¢
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][

i, B @Rz 1 @il AfODIER WA 2T SRR I PICT SHACS o)
S € RN 957 999 | 31-03-2022 IRt St HIETF=0 W=l e ¢

Balance Sheet

(%5 “/v7era)
Liabilities ' () Assets (?)
(i / ) (5B, AR/ (=01 /5
| Creditors 3,000 | Furniture 8,000
oﬁew/vn\ew CITEIEPACIRSI
Reserve Fund . 31200MESTocks 6,000
s A /fes 4 TGS /TGS
Capital : R ehionsit 6,000
S[ETHE /ST (R /AT
Babatu= 10,000 Bill Receivable 1,000
JRICo! /ARG 2l & /elisy e
Cintu = 5,000 Carghi it 5,200
/BT I /M
Montu=  5,000"  |.20,000
TG/
26,200 26,200

Babatu died on 30-06-2022. Under the terms of the partnership
deed, the executors of a deceased partner were entitled to :

30-06-2022 Si{® ARG T 2 | O
sfeiammeE 29 ¢

i s 5 TP O AR

30-06-2022 iR AT TSI & | AR e =% TR I SR IR
s{fSffdal s ofend Sl ¢

21 / ACOU
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(i) Amount standing to the credit of deceased partner’s capital
account.

O SRR el 21 (FUbe 45 alsf) 4|

T AR o A TS (A 2ol 5|
(i) Interest on capital @ 5% p.a.

@R 5% O TRAT AT O |

TR TAE TR 5% AR K|

(iii) Share of goodwill on the. basis of twice the average of past
three years’ profits.

oo ol Tz 91T aies geR fofew (963 Fe ok |
o1 o7 I=4 5T FACed G- [ofers R FACEE <R |

(iv) Share of profit from the closing of the last financial year to the
date of death on the basis of last year’s profits.

fRore T weq fofes [ore e AR SN ==l 97 OIS sred

oA |
Riore SIf TR O (A 9 e #R® s =i e fefers wies
o | ‘ : |

Profits for 2019-20, 2020-21 and 2021-22 were 26,000,
Z 8,000 and ¥7,000 respectively.

2019-20, 2020-21 ¥ 2021-22 I FASTZ @ 6,000 53, 8,000
55l Sl 7,000 5! wnifee |

2019-20, 2020-21 €& 2021-22 -3 eAYZ FAFE 6,000 I,
8,000 TRl =} 7,000 Bl fes |

Prepare Babatu’s capital account on the date of his death.
FAIGE TN OIRLS (O€] P fepiol &e® 4|
e Joi OIfFcd O e PR 2 S |
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15. What is meant by dissolution of partnership firm by giving notice >

Mention any four situations when a partnership firm may be
dissolved by the court. ' 2+4=6

TR R SRS IR SRR i [ g AN DRERS [ SRE Tt
JEIRE SRR 29 2/ Rl 5iRer 7RERS S 4|

R Sifd 3 S 2fSHIR SRei e S @RIE 2 @-CRE SR SR
TER FE mwwmm@\%mmq@wwmn

OR / 7z<! [ 9241

Tarun and Moni are two equal partners of a business. They decided
to dissolve their firm on 31st March, 2023. Their Balance Sheet on
that date was as under :

oo OF A9 Bl AR W SR (OSTEEE 31 S5, 2023 wiFve
NWWWWWW|@WWW@WW@T
T <o e ¢

T R W G IRAIGE TERAME | O 31 sms 2023 SIfFt. SItR
.WWW@Q%WWI@“@NWWWW?W@F{

Balance Sheet

(S5 =@ / Tgem)
Liabilities (3) Assets ()
@/ et 5/ | weifes/ife 5l /DI
Sundry Creditors 20,000 | Cash 2,000
Ry seamia/Rien sheame % /5%
Loan from Manash 5,000 | Debtors 20,000
PR ] 49 /TR (A 4R | (I /AT
Capitals Stock ; 25,000
N [ T /TS
Tarun = 30,000 Investments 5,000
EafAcrE [/ &R
Moni = 20,000 50,000 | Fixed Assets 23,000
T /= 2R e /g Tife
21 / ACOU [14]



(i) Fixed assets are realised at 27,600 and debtors realised at
60% of book value.

FI TfeTI=T 2/ 27,600 531 SR = =W S @AVIKS 2/ I8
60% SN oAl R“

R =) 7% I 27,600 B R IR A RARCS] TV 60%
IiE <1 =F | i \ : I :

(i) Investments are taken over by Tarun at book value.
ol TRV AR &2 I
IR AR T oF 8= A |
(i) Sundry Creditors agreed to accept 15% less.
Ry AleTmERE 15% T 22 TR AT = |
e slieamic=l 15% % oo 799 2 |
(iv) Stock are realised at 2 40,000.
ged 74 40,000 O SIM 9 27 |
TS /W 40,000 BiF S 1 2 |

(v) + Expenses on realisation are 2 500.
SEDMIESIER 492 500 5 |
ISR ¥ 500 B |

(vi) An unrecorded printer realised 2 500.
gb! W1 @R #| 500 Bl CofEl o |
(b SfEi#Rm 2R A% 500 il AN (97T |

Close the firm’s books by "preparing a Realisation Account,
Partners’ Capital Accounts and Cash Account.

e 25151, SR e fZpial o dam f=el e SR REIRe Ko

MR 2, SR e TR @R T iR e S SIRAiEE 2
% A |
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16. Ayushi Ltd. issued 7,000 equity shares of 10 each at a premium
of ¥ 2 per share payable as follows : 8

On Application.— 2 3
On Allotment-3 5 (including premium)

On First and Final Call-3 4

Applications were received ‘for 11,000 shares. The excess money
was refunded and the allotment money was received in full. When
the first and final call was made the amount due was received with
the exception of 200 shares. These 200 shares were forfeited and

subsequently reissued as fully paid up for a consideration of 6
per share. '

Give Journal entries in the books of the company recording the
transactions.

Ayushi Ffs0e @fwm 10 53 359 7,000 2 FHieeg efedTs 2 5
wikigRe [ SR i 2e oo W@ e Aoy sk =i 8

AR &9 — 3 5
SRS 191 — 5 5l (fH2=E GI0o)
22 ST GO OFE F — 4 5l

11,000 SIRXI#[GF A SN (oI ol | @ferss oo a1 gz 9912 Al C2fee
S WD 1 240 #le s | @i 2o o porg e[ 4 28, 200
< SRe{1T AT AT A 4 S (ol T2t | @ 200 A SiHd qeemie
91 (2fet Wi Ufe¥Te 6 56 Zpie SRfHEes ool Simrge w9 i fi
40 (e |

(@R RIS @EmPTEE FERaes e aiem 47 @

SIFA! Fheee @il 10 Bit T 7,000 Fmisiog afsf 2 Sl wfem &
Sl A TR SAfesiga ¢

I A0 — 3 DIl
SRGER A — 5 Gl (TG F6To)
2N G pOIE SIER T ~ 4 B
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11,000 S¥#a G S e Bt | foiie o1 @=e (el Tafke 4w
SRR O Fwielacel A%l Rl wAfET | T A SR PUI% W 1 = O
2005 SiR*is1g Pl Al FIB S5 S FAwefcel SimiE w1 2@iRe | 98 2007
Teeiofa AireRe T 2 Gk 26 6 Bl RETE TRl S S
@R 3200 TR FPRERCE T SiEmeie (RIS |
OR[N/ T

Write short notes on : (any four) 2%x4=8
53 il 7 ¢ (Rieprean oifsn)
ke Bl @Il ¢ (G-I BIRTD)
(a) Under Subscription

EDRGERE R

3 GO
(b) Capital Reserve

T e

T offe
(c) Pro-rata ‘Allotment

TAEE SR

FANAITST ST
(d) Securities Premium

efoef® Tiem

zfogle wIfE=E

(e) Convertible Debenture
FENGSEN Ai=f@
EalRAEIRI R

OR / 7231 | <8<

Write the limitations of Computerised Accounting System.
FATHRTS T A SArazmerEE &7 4 | '
F{Toge REe At ARSI T |

21 / ACOU L7 ] * Contd.



17. Sikha and Sneha are partners in a firm sharing profits in the ratio
of 2: 1. On 1st January, 2022, their Balance Sheet was as under :
8

Rl O (R 2 : 1 SHFANSS &S I G2 2feRing SI¥mIS | 1 SeRST 2022
OIS (SEETR U6 A woTe A wid wiifes ¢

ol @R (FRI 21 1 wwmaﬁmﬁﬂmaﬁﬁmwﬁm| 2022
AT 1= S it Ygerig el 2 8

Balance Sheet

(Taeria/ tgesia)
Liabilities : ()  Assets ()
@/ Gl B /O | Trife/ e o /B
Bills Payable 10,000 | Cash in hand 10,000
Ay [e /eor /e o Tl /95 Sl
Creditors j 58,000 | Cash at bank 40,000
SANeIa /AT RS G /CE '
Outstanding Expenses 2,000 | Debtors 60,000
GG 6 /TEANE U AT /4T
Capitals : Stock . WRG0;000
TR/ ST TGO /TGS
Sikha = 1,80,000 Plant 1,00,000
ILEIVATE] SRR /i
Sneha = 1,50,000  |3,30,000 | Building | 1,50,000
CREl RN T S /O
14,00,000 | 4,00,000

On the above date, they admitted Anisha as a new partner on the
following terms :

TARIG OIS (OEFEIE 5o S 9 b6 fefes wibe auq s
. Tepitel ©f% s ¢

21 / ACOU [18]



ARG O ORI HERS ASATHTT RIS Tor ST R ol 56 ¢
() Anisha will bring % 1,00,000 as her capital and % 60,000 as
her share of goodwill for 1/4th share in the profits.
IR TS 1/4 SR M0 ©IZS FE AW 1,00,000 591 Wi 1T
SR*E W 60,000 %awnﬁm

Aced 1/4 SR G wﬁm\qﬁm /W 1,00,000 %12151 CRE FICE S
I 60,000 TIPS |

(ii) Plant is to be appreciated to ¥ 1,20,000 and the value of
‘ buildings is to be. appreciated by 10%.
- FIAEE T 1,20,000 G Jfaw FE R F S T+ 10%@%@1
24|
SR 0 1,20,000 BFl SRR SR T 10% I T 2= |
(iii) Stock is to be valued at % 36,000. ;
TGeF eV 36,000 B T 29 |
TGeoR FERE 36,000 B I AN
(iv) A provision for bad and doubtful debts is to be creat.ed at 5%

‘of debtors. |
RBIGECRCEE G Wfﬂﬂ W ARG (i A 5% TS i 1o i
ORI '

SFRT &L AEEE (v AW (IR TH 5% T e aiee =
BIGH

v

(v) Creditors will increase by ¥ 1,000 as an amount payable to
Priyanka for goods purchased on credit was not taken into
account.
slemid SfRE 1,000 Bl @ 91 29, FE ST AT @RI AE
e MaerIRl @& gwaif 2ol &= @ A | s
siigamiEd AR 1,000 B 3 1 263, 9 Alfcs AW @eE e
ks oo dRik = w2 ||
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Prepare Revaluation Account, Pass Journal Entries and prepare
the Balance Sheet of the new firm.

T fRole! 2% w@maﬁ@ﬁmm W@g—waﬂ
il

AT IR ege age T, GiESie (e R T AfDIEE gerd oo
FCE | \ .

OR | 7331 [ @21

(i) Distinguish between Fixed Capital Account and Fluctuating
Capital Account. = - S

g T f2piel S S o fRBiei T AL e
fom e T @ oI ST TR ey Al el |

(i) How the adjustment of capitals is made at the time of
admission of a new partner ? 3

G T SRR ST TS e G e T 22

R T SRR AR (IR 7R e TG ISR R =7

18. Following is the Trial Balance of Arnab and Anvi as on 31st March,
20243 ¢ 8

31 W 2023 SIS U W OS] Tgg fEmead were @l Wil e
3100 G 2023 Sifc WK =R iRfen G e e 251

- Trial Balance

(Tge Fewea / G jicem)

Debit () Credit . | ()
(CSf<B/ <) GF/5) | (ch/ o) (51/Bi=)
Machinery ; 3,00,000 | Capital :
oIS / ageiife ST /TN
Furniture 8,000 Arnab 2,40,000
SIHIEPACIMI : el /o l
Copyright 10,000 Anvi 1,60,000
HIFIRIRE /1D EREJEIS
Building 1,35,000 | Reserve Fund 19,000
T /S Afees Afer/wfew e |

21 / ACOU ' [20]
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Debit (}) Credit (%)
(Cef<B,/<D0) Gl /Breet) | (Cries/em) | G=t/5r)
Salary 16,000 | Outstanding Wages 400
VR / (o AT TGS/ ANE TG
Taxes 800 | Bad Debts Provision 1,400
4/ C | OEERTE 6w R/

‘ | SRR YR 9

General Expenses l,OOO\ Bills Payable 42,400
ST <5 /A9 T 2T et/ eora /e _
Bills Receivable 1,800 | Sundry Creditors 81200
elisty a1/ 2itsty e ' iR sttem/Rfer sheamm
Debtors 42,800 | Trading Account :
AR/ AT TR o /e Ren R
Charity 1,400 | Gross Profit 1,24,600
TS /WISy o NS/ @6 Fre
Investment - 30,000 | Discount 1,000
(Ric/ i) 1G1/3T!
Bank Balance 15,000 | Commission 400
@S Sl /0T Sl TR /e
Cash in hand 600
9% Gl /=19 Sl
Drawings :
SIBSRYACIESR

Arnab 12,000

CEEPAOE

Anvi 8,000

o /e
Closing Stock 20,000
AR TGS/ < TGS

6,02,400 6,02,400
[21] Contd.



Prepare Profit and Loss Account, Profit and Loss Appropriation
Account for the year ended 31st March, 2023 and a Balance Sheet
as on that date after taking into consideration of the following

adjustments :

o FRGPRR RS9 2023 \s\ﬂa 31 He SwPRl TRER AR -e-
TR 25171, STS-EIE BARIGH 26i7l S (2, OiFe T78 d 9o 3 8

5 TG R T 2023 AER 31 ¢ 05 ¢ 268 TZDR S &e-
@A TR, FS- IR SATAIEA IR G7) (12 It U3eid egs |

(i) Partners ére entitled to interest on capital at 5% p.a.
SRR JoE S TBF 5% 2@ 7S wle A |
AT S B T 5% mﬂwammfwﬁnv

(i) Transfer 10% of net profits to Reserve Fund.
oo wed 10% S e g SRF |
oo ced 10% A ﬁf@ﬁawm@awwl

(iii) Bad debts provision has to be incréased to 5% on Debtors.
SRISAR AT AT (MR S5 5% (1 Jiw FiRS wel |

SRR A I GEMIEE U 5% Jim Fee 2 |
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(iv) Interest on Investment accrued < SQO.
REGIE eo@® 500 531 7S &lef (2 Szl ,
REGIR B2 500 T AP 2R |

(b) Depreciate Machinery @10%. “\

TEAIST eoli® 10% Z<I© ST 4 FRA & |

TElIfoq Tolm 10% D@ SR -4I¥ 909 [ |
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